
Misprints in the Michigan ECPE (C2) Practice tests - Student's book 

Practice test 3, GCVR, question 138, p.64 reads as follows: 

138. The repayments will be ......... over 36 months to make it possible for the debtor to manage 

them. 

a. staggered 

b. stumbled 

c. meandered 

d. toddled 

 

Practice test 7, GCVR, question 111, p.142 reads as follows: 

111. As a physician, he has ......... manner which gives his patients confidence in him and doesn't 

confuse them. 

a. a carefree 

b. a mainstream 

c. an open-minded 

d. a straightforward 

 

Practice test 11, GCVR, question 160, p.227 reads as follows: 

160. What does this refer to in the final sentence of the fourth paragraph? 

a. indigestible bound niacin 

b. the vitamin B3 

c. the flavor lime imparted 

d. the conversion to nutritionally available niacin 

 

Practice test 12, GCVR, question 66, p.238 reads as follows: 

“Go on your own. I didn’t take the day off ……… take you shopping!”. 

a. so much I could 

b. that I could 

c. that I could not 

d. so that I could 

 

Glossary, Practice test 3, question 138, p. 282 

stagger: spread events that would normally happen at the same time over different times. 

The candidate's speech plan was staggered over the entire week. 


